_ BANKINGAND FINANCIALMANAGEMENT
~ Paper- I : Planning and Budgetart Control

Time : Three Hours M.M. : 100
Part-A (Compulsary) - - {Marks: 20}
WRT-3T (Afard )
1. What do you mean by Project Identification?
TR SRR & ST 1 T | ?
- 2. Give two limitations of business forecasting.
I YaiTAr i Q T JaEy | |
3.  What is meant by technical analysis? !
Tehrleh! TYRTTUT <HT 1T 379 & 7 o
4. _ What is the meaning of Project Layout? = \
T < afrard @ ot s
5. Mention two objectives of Zero base budgeting. ~
. Y[ STTYR 991 % S 32T Jaril|
6. Name two qualities of Project Manager. ot
o i FE Y QO sl .
7. Name any two development financial Institations. ™
C o AT g et s T fafe
8. What is dummy, ativity? €=t f3an fF e € |
9. '+ Giveformulaof material sub-usages variance.
[t Su-sud faratr w5 ga S
10. What doyou mean by Line of Balance?
| HaE e § T W € ?
: Part-B (Compulsory)
qIT-w (At )
11\ ) What is project? Give characteristics of project.
e o & 7 uftdre =i i fesraand sy
12. Explain in brief the statistical or scientific techniques of business
forecasting. .
meaﬁwl:@aﬁwﬁmﬁﬁﬁ@ THYH THARC
13. The P/V ratio of Shivam is 40%. During the year 2015 sales were Rs.

80,000 and the fixed cost was Rs. 8,000. Calculate : (i) Total variable
cost, (ii) Total contribution, (iii) Profit, (iv) What would be their
profit if they are able to increase their sales to Rs. 1,20,000.
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Zl:mttmam-wﬁmama gftrer ¥ 1 2015 74 # forsra 80,000 T, fer
T s,cmgp T. gt m : () F IRadiE @, (i) Fo

\ ; ?mlﬁlmﬂ 11% j‘l‘f;ﬂ;(gzﬁ Z:ﬁ: % R4 31 1,20,000 ‘6./ o g 3 g
14.  Explain net present value method. \
Dy dEE e Tt gneEe
15. Explain the difference between PERT and CPM.

T ug drdiuq ¥ 3t T S| _,
Part-C ( HIF-T)

Unit-1 3861

16. From the following information. calculate

\\‘

the regression équation Y

on X: ¥\
8% =30, SY =40, SXY =214, SX*=220,5Y’ =350, =5

‘ 2y X T HER ) O R

frfafaa =
SX =30, SY =40, SXY =214, SX* =220, SY* =350, N=5
Write short notes on the folloWing: C '
* (i) Project life cycle | (i) Causes of project failure
(i) ST SR (ﬁ)qﬁzﬂwm%m
R Unit-1V/3HE-11 ‘ |
17. The following ‘data are obtained from the records of afactory:
| Prefef S T R st @y frg e E:
‘ I v+ Rs. Rs.
Sales 4,000 units‘at Rs. 25 each —- 1,00,000
Material consumed 40,000 —
- \Labour charges - 20,000 —
Variable overhead 10,000 ‘—
Net profit ' 18,000 —
Calculate:

@  The qumber of units be selling which the company will neither loss

nor gain anything.

(ii) The sales needed to earn a
(iii) The extra units which should be sold to obtain the present profit if it

is proposed to reduce the selling price by 20% and 25%.
(iv) The selling price 1O be fixed to bring down its break even point to

500 units under present conditions.

profit of 20% on sales.
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(i) =~ T THRA % ge, AE farg |
(i) TR T 20% v IR FRA ¥ STava e -
(ifi) TR TRl = oM, St o o R Y 3 e A v, A
| ﬁmwﬁzo%amzs%wmmmammm%l x
vy T e Pt A e e frg (- ) w
fefir ¥ 500 THEA WIS FASRAEL )
- OR
Explain the average rate of return method. How it is calculated?Also
_explain its advantages and disadvantages. . '

-aﬂmma{ﬁﬁrﬂmmmmﬁmmmﬁ?

THF Y & gl o SR |
UnitII(saE-) 07 . ..
18.  The following is the list of activities of @ project along with their - . -

~ duration: AN ’ :
Activity Duration

1-2 9 Pa\

1-3 10

1-4 - 6

2-4 o7

2-5 18

3-4 ~ 3

36 NG 12 .

4-7 .20 - S
' 5.7 8 | | S | ! e
6_7 _ : | 7 7 v : :~
6-8 7

7-8 6

Draw the network and find out the ctirical path.

a

Eb)) Identify the other paths and their duration.

©) Compute the total float for each activity.

mmﬁmﬁmﬁﬁm S F WA A T
. fmd arafy (=1 €& )

1-2 9

1-3 10

1-4 6
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24 7

2-5 18!

34 - 5/

3-6 —12

4-7 20

5-7 8

6-7 7

6-8 -7 .
.7-8 6

(a) % oG G AR S i o T A
()  IFATE ST weIfed orafy 9 it
(©) T e ¥ T et Tl i o wits

Or
Write'short notes on the following:
(1) .\ Material variance (ii) Labour variance ..
Frfafea w dte feofiai fafen: : -
(i) Tt feerm () gEfeeRw
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